g‘“};ﬁ ViaTeMaTUKa

T
/ ‘A
;;MT»IC_
0

1 [lpocTble TpUroHomeTpuyeckme =
M § ypaBHeHuUA M

[Nogrorosmn Konabekos A.

P e
ote
ﬂo - S -b === E)
gﬂ‘ SNA~sSinB~SINnC o



ZMTNC
ITpumep:
Pemmenue:
2500
X42 N 7T
0 X=(-D)"=+mk,xke”
105000 3)

3\ /\ ..... {:sin 90

x=25y + 45
— a _ b _ ¢ b o
T A7SnBTSnC | 3P g0 90~ y=1 (xty),
%‘\’ C x= 25 + 45 )= x?. ¢

>



YpaBHeHHe BH/AA COS X = a

/}, X =+arccosa+2an,neZ
A C [pumep:
Pemenue:

T
IZ—E-I-ZJ’I;,’, ke s

I:§+2:€rﬁr, =

. x= 70

{y:sin90

x=25y + 45

a _b _c 5 0 Y

=~ A sinB~sInC b—za}c 5'\(\96)’ y=1 (x+y)(
Rl x= 25 + 45 e

2x2=
3x3=
4x4=
5x5=
6x6=
7x7=




YpaBHeHUS BHUA
tgx=a

Xx=arctga+an,ne”Z

o

[Tpumep: tgx =1

Fis
3500 Pemenne: s=—+7@k, k€2
*42 4
210

+4a

105000

x=25y + 45

/\ (- {y:sin 90

a. a _ b C
~~A " gsinB~sinC

a‘\'b ’ 90":1 o /
h— = { s\ y 'x+‘¢ R
¢ x= 25 + 45 Nz ¢) = P

a x
C 2

x=70



YpaBHeHUuA BuAaa

ctgx=a l °

x=arcctga+nn,nel

2500
“42
310
Te
105000

y=sin 90
b {:x=zsy + 45
S— O - B E%) o=} =
= A “sin B~sinC h—ﬁa{ 5\\"9 y=1 (’4\:+y){
: % x°C x= 25 + 45 E= o».

| £

yé‘

x=70



6

v

D0 3

v

(x+“ )(x_“)t -

IMMaHUE

y?

>

(@ (——




